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 
 

2 ,2 , 4 , 6 , 10 , …… 
     

   
       
p q  
 ~𝒑 ˄ 𝒒  p ˄~ q  𝐩˄𝐪  ~𝐪˄~𝒑 
  𝒂 − 𝟏𝟎 = 𝟐𝟎    𝒂 = 𝟑𝟎   
        
 ~ p ˅q 

  x , y : هما 

 x =T  ,  y = T  x =F  ,  y = F  x =T  ,  y = F  x =F  ,  y = F 
 

4 a 

 𝒂𝟐 
4 

 
𝒂𝟐 

4 
 𝒂𝟐   

 

 

 



 

 



 

 


 

 


 

 

 


 
 


 

 


 
 


 

  

𝒒 ∨ ~𝒑 ~𝒑 𝒒 𝒑 
T  F  T  T 
x  F  F  T  
y  T  T  F  
T  T  F  F 

 



 

:  

                                     ----  𝒎∠𝟏 =  

 𝟏𝟐𝟎°  𝟗𝟎°  𝟓𝟎°  𝟑𝟎° 
   

 

𝒎∠𝟏 = 𝒎∠𝟐 𝟏 : 
 𝟑𝟎°  𝟓𝟎°  𝟗𝟎°  𝟏𝟎𝟎° 
 
        

 12  14  
  

 ∠𝟓  ، ∠𝟑  ∠𝟒  ، ∠𝟖  ∠𝟕  ، ∠𝟐  ∠𝟓  ، ∠𝟒 
 ∠𝟔  ، ∠𝟒  
        
 
 ∠𝟒  ، ∠𝟓  ∠𝟒  ، ∠𝟖  ∠𝟕  ، ∠𝟐  ∠𝟑  ، ∠𝟓 
x 

 𝟓°  𝟕𝟓°  𝟓𝟎°  𝟏𝟎𝟓° 
𝒎∠𝟏 = 𝟓𝟎°𝒎∠𝟐   

 𝟓𝟎°  𝟖𝟎°  𝟗𝟎°  𝟏𝟑𝟎° 
𝟏

𝟐
  y4   

 𝒚 =
𝟏

𝟐
 𝒙 − 𝟒  𝒚 =

𝟏

𝟐
 𝒙 + 𝟒  𝒚 = 𝟒𝒙 +

𝟏

𝟐
  𝒚 = 𝟐𝒙 +

𝟏

𝟒
 

(𝟏  ،  𝟒) ، (𝟓 ، 𝟖) 
       

 𝒚 =
𝟑

𝟒
𝒙 + 𝟖 

 𝒚 = −
𝟑

𝟒
𝒙 − 𝟓  𝒚 =

𝟑

𝟒
𝒙 +

𝟏

𝟒
  𝒚 = −

𝟒

𝟑
𝒙 − 𝟔  𝒚 =

𝟒

𝟑
𝒙 + 𝟓 

𝒚 = −𝟐𝒚 = 𝟒 
       

1 
2 



 

 

 
 
   

𝑝𝑞𝑝 ∨ 𝑞      
𝑎  𝑏  𝑐𝑎(𝑏 + 𝑐) = 𝑎𝑏 + 𝑎𝑐  

     
  

𝒎∠𝑨 = 𝟑𝟓°   ∠𝑨 
∠𝑨𝒎∠𝑨 ≠ 𝟑𝟓° 

 

 

 

4 (−𝟑، − 𝟔)𝒚 + 𝟔 = 𝟒(𝒙 + 𝟑)  
𝒙𝟑𝟎° 

 

6𝑥 = 2(𝑥 + 8) 𝑥 = 4 
 
  
 
 
 

 
 
 
 

  
   

      

    

     



 

 
 
    

                    𝑚∠1 = 𝑥   ،  𝑚∠2 = 𝑥 − 6  
  

 
 
 
 
 
   κ ∥ 𝑚𝑥 

(−1  5) 
 𝑦 = 4𝑥 − 5  

  
  
  
  
  
 

 
 

 


